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1. =2+ x%+ 16 & x U 90 I 2, x (4. Wx+y+z=12,ﬁlﬁx,‘y3ﬂ'(z$lﬁ$
ol AT R 1 x F W wt wve wE 6 sTeTh qUites 2, % R Tl 6 S T R 2

T § (a) 53
@ 3 (b) 54 -
(> 55
®) 4 d 56
d 6 - 5. qﬁ1=a2+b2+c2%,;ﬁﬁa3ﬂ'{bm‘?ﬁ$
‘ g c=ab?, MIFR?
(a) U @H G 3N g TH QUi H1 A T N
2. (a, b, c) A T ot ], & a, b, ¢ TAHS ) ‘
’ (b) Th faum gem it 98 ok quis &1 o
 qurter &, 39 TR % abe =307 ~ a2
(a) 30 : (0 U aw quitsh 1 it
) 27 . . d @ﬁm?ﬁmmaﬁ
()~ 9
6. - i W 23P62971335 @A faww wsw W&
@ 8 ‘
‘ ARSI R, A PRI AA TR 2
@ 4 |
‘ , , ®) 5
3. AR Th fgum @l - 4x - log ;g N=0%H| . ¢
T aredfas §, @ N =[aq 91 99 R 2 @ 7
(@ 1 : o :
. 7. a9 1° + 25 + 35 + 4% + 5+ 4 @ Fawfoa
(b)’ 1o ,' F T AT ATHA ITH 2
’ 1 ' a o
() — .
100 ® 1
@ —— © 2
10000
d 3
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1.  x%+x2+ 16 is exactly divisible by x, where xis |4  The number of different solutions of the

a positive integer. The number of all such equation x +y + z = 12, where each of x, y and

. . z is a positive integer, is
possible values of x is

. (a 53
@ 3 (b) 54
b 4 ' . (© 55
© 5 | | @ 56
@ 6

5. If I =a2+b2+c2 where a and b are

consecutive integers and ¢ = ab, then I'is

2 The ﬁumber of (a, b, ¢), where .a, b, ¢ are (a) an even number and it is not a square of

an integer
positive integers such that abe.= 30, is ‘ (b) an odd number and it is not a square of
' an integer
(a) 30
(¢) square of an even integer
(b), 21 R : (d) square of an odd integer
© 9
d 8 ' (6.  If the number 23P62971335 is divisible by the
smallest odd composite number, then what is
the value of P ?
8. If the roots of the quadratic equation| (@ 4
x2 - 4x — log,, N = 0 are real, then what is the ; b 5
minimum value of N ? 6
a 7
(a) 1
(b) —1% 7. What is the remainder when the sum
15 + 25 + 35 + 45 4 55 is divided by 4 ?
1 . .
— : 0
(c) 100 (a)
b 1
@ 1 © 2
© 10000 )
@ 3
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8. 3% % 31 TN W HA-HT 37 B ? 11. 3R 172020 & 18 @ fowfom e sman 8, @
: : . YA TR ? K
@ 1
a 1
® 3 b 2
(C) 7 (C) 16
@ 9 @ 17
. . i2. 1 + 1 + _1 +..+ 1
9. @ GEuRll H1 LCM 3% HCF %1 28 THT 2 | 1+v2 J2+43 J3+44 J99 + 4100
HCF 3R LCM 1 Irmear 1740 8 | AR o & 1 R 2
T TEI1 240 7, A gL W& 1R ? .
’ @ 1
(a) 420
b 5
(b) 640 © 9
() 820 d 10
(d 1040
13. Qﬁxm,:l‘l\'x\/x\/;%,a}mwmaﬂ'f%?'
10, Pl § & e R 0 - o, G- @] ) 1 |
o ’ 8
fawrsa 3, Tz 2a? 2 ‘
- ®
(a) VI gV T n % fog 1
(b) HaA T TH gAY HEAT n % T © 3
' 4
(©) Had TS fawm vaqel dew n % g .
: @ =
(d) FId TAF NI &1 n & U 4
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" 8. What s the digit in the unit place of 3% ? 11. If 172020 js divided by 18, then what is the

remainder ?

(a) 1 »
@ 1
b 3
by 2
@ 7
(¢ 16
d 9
@ a 17

9. LCM of two numbers is 28 times their HCF. | 1o What is the value of
The sum of the HCF and the LCM is 1740. If 1 1 1 1
’ ‘ + + et et 17
one of these numbers is 240, then what is the 1+J2 J2+43 J3+44 VJ99 + 100

other number ?

‘ (@ 1
(@ 420 ® 5
b 640 : © 9
() 820 _ @ 10
@ 1040

13, Ifx™ = 14\/x Vx Jx , then what is the value of -

m?
10. (x™ - a®) is divisible by (x — a), where x # a, for | .
(a) natural number n ®) - 1
4
(b) even natural number n only 3
() Z R
(¢) odd natural number n only
@ <
(d) prime number n only 4
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14, GETI £1,£2,+3,+4,+ 5% ¥ T IR A At

15.

16.
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(@) 65qHIE

T @ gemel F ot Hwg TuETE & anee
R ? ’

(@ o

(b) -30
(c) -55
d 55

110 m @it TH TG 132 km/hr I THEAH
T AT @ R 165 m @R T H IR FA
o fora T @ 2

(b) 7EFTE
© 7-59HUS
d) 85THTE

et qEem W AR we, qedd @
TH-EE R | IR 9§t A gen o aifts s
R &I 99§, o 9§t i g = R 0

(a) 25
() 3

(c) 35

@ 5

17. T 60 A 6 Fre § 5o ¥ W n et

18.

(6-A)

2 1 IRk v 99 § qferal ) dean 3 W o &
M, ?hwm?ﬂa? W WH + fow oS A
e 10 AV A W@ | n AT FTR?

(a) 18
® 21
© 24

d 30

qfe x e, xﬁ%ﬁﬁﬁ:{maﬂ%xﬁ:ﬁﬁ.

x 1S I F HA §, A y e, y ue gfafeq
W Fh y oAl d k561 FW R TR | kHT
2

(a) xzy_3
(b) x%y2

(e y%3

(d y3x2




14.

The sum of all possible products taken two at |
a time out of the numbers + 1, + 2, + 3, + 4,5

is

@ o
(by -30 -
() -55
d 55

15. A train of length 110 m is moving at a uniform
speed of 132 km/hr. The time required to cross
a bridge of length 165 m is
(a) 6-5 seconds
(b) 7 seconds
(¢) 7-5 seconds
(@ 85 seconds

16. The simple interest on a certain sum is
one-fourth of the sum. If the number of years
and the rate of annual interest are
numerically equal, then the number of
years is
(a) 25
b 3
© 385
@ 5
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17.

18. -

(7-A)

A 60-page book has n lines per page. If the
number of lines were reduced by 3 in each
page, the number of pages would have to be \
increased by 10 to give the same writing

space. What is the value of n ?

(a)

18
® 21
© 24
@ 30

If x men working x hours per day can do
x units of work in x days, then y men working
y hours per day in y days would be able to do

k units of work. What is the value of k ?

2.-3

(a) x%

b) x3y2
(¢ y%3
@ y3x?




19. mr«ﬁﬁqﬁ?d(n)@wms'{yrhah%
YAICH®  WISRRl Y, e Wl guiar . ® |
fefafga d IR vl € 2

1 dB)=dD

. aE)a = d6)
3. d(5) +d(11) = d(16)

) et 193

Fad 1 3R 2

Fad 2 3 3

1,2 3R 3

(a)
(b)
(c)

Gy

" sl W PARA R, @ Fafafea s w
foram hifre -
1. A, TN TF ST T E |
2. A, +27 T fawm g R |
3. A, + 1Y TH GW GEAT R |
I § /PR Fo T A2
- -
Fa2
¥awr 3
%ﬁ‘aérzaﬁta

(a)

(b

(c)

@
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R A, = P, + 13, T&l P, Uecht n |

21.

22.

23.

(8-A)

(c)

Th GHMGR AT FEgat B ITh A I W
JoaT & AP T @S T HT TR HT R,
I 800 gm F T 1000 gm T FWFT } |

. Tty T Sfasraar = R 2

(a) 20%

(b) 25%

30%

(d 40%

T 3 m &) 3R 40 m N TE 2 km/hr N R
Y wedt R e gy A et @ ) s e d 5w
T & wag & e arer wwt < A oo §
32

(a) 40,00,000 T

(b) 4,00,000 T

(¢) 40,000 ST

(d) 4,000 X

Ife w ehfeem A < x A S I 7, @ 28%
# @f Ah 2 | AR T T y F A= o B, @
12% 1 <4 BT & | yzmxﬁaagma'w%?
(@ 41:9 o
b 81:9
© 23:9

da 14:9




19:  Let d(n) denote the number of positive divisors

.-, of a positive integer n. Which of the following

are correct ?-

21. A shopkeeper sells his articles- at their cost

price but uses a faulty balance which reads
1000 gm for 800 gm. What is the actual profit

. percentage ?
1. d5) =d(11)

| (a) ~ 20%
2. d(5.d(11D) =d(55

(5).d(11) = d(55) (b) 25%
3. d(5+d(11) =d(16) (© 30%

Select the correct answer using the code given @  40%

below :

(a) 1and3only
; 22. A river 3 m deep and 40 m wide is flowing at
(b) 1and2only- )
the rate of 2 km/hr and falls into the sea.

" () 2and3only What is the amount of water in litres that will
' fall into the sea from this river in a minute ?
‘d 1,2and3

(a) 40,00,000 litres

) : (b)  4,00,000 litres
20. IfA, =P, + 1, where P, is the product of the »

first n prime numbers, then considér the (e) 40,000 litres
following statements : (d 4,000 litres
1. = A, is always a composite number.

2. +2is al an odd number. T
Ay + 21s always an odd number 28. If a television set is sold at ¥ x, a loss of 28%

would be incurred. If it is sold at ¥ y, a profit
of 12% would be incurred. What is the ratio of

3. A +1is always an even number.

Which of the above statements is/are correct ?

ytox?
(a) 1lonly ' @ 41:9
b 2only . | b 31:9
(¢ 3only (¢ 23:9
(d) 2and3only @ 14:9

(79'—A)
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24. T ARG A FRH 99 F 15 km/hr 1 3G (26, AR X,y % SR 2, ?ﬁﬁmﬁaﬁaa 03

FH 300 kan 1 G TE & T W1 H g A
T H@1 R | R F TR 1w oo

(a) 45 km/hr
(b) 50 km/hr
(© 60 km/hr

@ 75kmhr

25. aﬁqwﬁs%:%:%%mﬁ@m
T MR & FQ § | 9gen =afn 4 wé ag
Aot et St P vt @ 1 AR =R

TIf¥F W T 96,800 g3 B, A oW F I
e w22 |

(a). T 32,000
(b) T 34,500

(c) ¥ 36,000 .

(d) T 36,800

DZOL-T-LKM

27.

(10-A)

AR T R 2

é. %,yﬁiw’%‘ .
ﬁﬁ?%%ﬁmmaﬁm-gﬁq:
(a) mlaﬁig

b) Faa 23R 3

() ad 3

@ 1,23R3

s‘mmmaﬁwﬁm%m%/&aﬁ
YT AT | IHh AT 35 Uar @ 3 9§ B
LS S BEE L KT R P T

% T it fae % s sy w0

(a) 259§
(b) 247¢
(¢ 2399

@ 2234




24, By intreasing the ‘speed of his car by 15 km/hr,
a person covers a distance of 300 km by taking

an hour less than before. What was the

original speed of the car ?
(a) 45 km/hr
(b) 50 Mr
(¢) 60km/hr
(dj 75 km/hr

Three persons start a business with

capitals in the ratio 1 : 1 : —1— The first

: . 83 4 5 ‘
person withdraws half his capital after
4 months. What is hig share of profit if the

buz;:»iness fetches an annual profit of ¥ 96,800 ?
(a) ¥ 32,000
(b) T 34,500
(¢ ¥ 36,000

@ < 36,800

DZOL-T-LKM

26.

217.

(11-A)

" If x varies as y, then which of the following

is/are correct ? i
1.  x2+y?varies as x> - y2

X ..
2. —5 varies inversely as y
y .

3. ‘\‘/xzy varies as 2 x4y2

Select the correct answer using the code given

" below :

(a) 1and2only

(b) 2 and 3 only
(¢) 3Sonly
@ 1,2and3

Ena was born 4 years after her parents

marriage. Her mother is 3 years younger than
her father and 24 years older than Ena, who is

13 years old. At what age did Ena’s father get

married ?
(a) 25 years
(b)

24 years
() 23 years

(d) 22years




28. WRY I Iy 60 9 } mﬁ,ﬁ%mﬁ 599 Sle1(81. wgURl x% - ax* + 3x% ~ 1 3ﬁtx3+3x2+‘3x+“1
%@Ilﬁ[\ﬁ43ﬁﬁ$‘l%l%ﬂﬁl\w@aﬁﬁ 1 HCF &1 § ? ‘

¥ ol Ted 6 B & 1w St A oy
: (@) x+1)

% foraaT e & 2

@ 189§ : ® (x+1)2
® 159 | ' © x*+1
(© 1394 . ~ () | (x+1)7°
@ 1199 |

\ ‘ 82. q WEW % HCF 3N LCM AW 3§;+1
29. T Yferent # IgE A e N R | uga 9 A 3R 30 + 7x% — 10x - 3§ | IR wF W
T HE W x% T gig At § ol It a xor 6x% + 5x + 18, T O wgUg T R ?
sﬁw@?ﬁ%lﬁaﬁ%mﬁg@wﬁ '

3@ 6 dem w A 2 (a; 15X2+4x+3k
(@ N & ' : ()  15x%+4x-3
(b) N> T ~ (¢ 15x2-4x+3
(© N3# frs | _ @ 15x%-4x-3

(d) TN UF T ik et & 4
& 33. IR (p+2)(2q-1)=2pq—10 3N
30. W ab+xy-xb=03Mbc+yz—cy=0 2, A (p-2)(2q~1)=2pg - 10 B, T pq ForuH

2 + 5 foros st g 2 ' T R ? , . .
@ @ -10

® 3 ® -5

(© "1 : © 5

@ 0 @ 10
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28.. Mahesh is 60 years old. lRam is 5 years|gy,
younger to Mahesh and 4 years elder to Raju. '
Babu is a younger brother of Raju and he is
6 years youngér. What is the age difference

between Mahesh and Babu ?

(a) 18 years

(b) 15 years

(¢) 13 years

(d) 11 years

32.

29. The number of itéms in a booklet is N In the
first year 1/t’here is an increase of x% in this
number and in the subsequent year there is a
decrease of x%. At the end of the two years,
what will be the number of items in the

booklet ?
(a) LessthanN
(b) EqualtoN
(¢) Morethan N

(d) It depends on the value of N

If ab + xy —xb =0 and bc+yz—cy =0, then|33.

what is X, ¢ equal to ?
a z -
(a)

(b)

<o T«

-

(e)

@ o

(13-A)
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What is the HCF of the polynomials

5-3x2+3x2-1 and 3 +3x2+3x+17?

(a) E+1)
b x+1)?
(c) x2 +1

@  x+1)°3

The HCF and the LCM of two polynomials are
3x + 1 and 30x3 + 7x2 — 10x — 3 respectively. If

one polynomial is 6x2 + 5x + 1, then what is

the other polynomial ?
(a) 15x2+4x+3
(®) 15x%+4x-3
© 15x2-4x+3
(d 15x%-4x-3

If (p+2)(2q-1)=2pq—-10 and

(p—2) (2q - 1) = 2pq — 10, then what is

pq equai to ?
(a) -10
by -5

0 5

@ 10




a2+ac = a%-¢2 2 3 38.

34. - - +
aZc-c3 a2<:+2ac2+c3 aZ-c2 a+c
T HH T8 2
(a 0
M) -1
ac

(©

aZ +c2
@ -8
. a+c¢

35. 4x*+8x° - ax+ 1w AhEFNE 2
(a) 2x2-2x-1
(b) 2x2—x;1
(c) 2x2+2x'+1
d 2x2+2x-1

36. Th 3 3l I TG F i B B 13 D
IR TS % Fwl H gEe B Y o g ek
T H 27 B AR R | AT H A I H
UGS F4T R ? ‘

(a) 35

(b) 40

() 45

@ 54 40.
3. L oY ___% 3 o Pl 3@

b+¢ c+a b-a ‘

FHHCH TE R 2

(@ x+y+z=0

(b) x-y=z=0

© x+y-z=0

(d) x+2y+3z=0
DZOL-T-LKM (14-A)

39.

X, YR Z T & W A THEAE I HHI:
4 kmvhr, 5 km/hr 3R 6 km/hr & I7 93 § |
Y, X & 262 91g WOW Wt € | 2 Y @ Rrm
T IYER WO HE SR il § 9t X @
T a1y A fd 2.

(a) —gﬁé
®) % W
(c) g or
@ % W

ﬁ@ WW%, a 1-x-x"+ x™! fpae
T ? 2

(@ Q+x7?
b)) (1-x)?
(c) 1-2x-x2

d 1+2x-x2

TF AR T x § G E & o w7 75 0
S W 9T R R I W W x% @ g |

x forereh s & 2
(@ 20%
(b 25%

() 50%

d 100%




34. What is the value of

'a2+ac_ a2—c2’v_ 2c N 3
a2c-¢? aZc+2ac? + ¢ a2 —c2 at+c
v(a) 0
b 1
ac
(©)
. a2 +c2
6
(d)
a+c

35, What is the square root of 4x% +8x%—4x+1?
(a) 2x2-2x-1
b 2x2-x-1
() 2x%+2x +1
@ 2x2+2x-1
36. The sum of the digits of a two digit number is
13 and the difference between the number and
that formed by reversing the digits is 27. What
is the product of the digits of the number ?
(a) 35 )
(b) 40
(0 45
(d) 54
37. If x ¥y __Z , then which one of the
b+¢ c+a b-a
following is correct ?
(a) x+y+z=0
b) x-y-z=0
e x+y-z=0.
d x+2y+3z=0
DZOL-T-LKM

38.

39.

40.

X, Y and Z travel from the same place with
uniform speeds 4 km/hr, 5 km/hr and 6 km/hr
respectively. Y starts 2 hours after X. How
long after Y must Z start in order that they

overtake X at the same instant ?

(a) % hours
(b) 4 hours
3
(c) —2— hours
(d lél hours

1 —x —x" + x™1 where n is a natural number,

is divisible by
(@) 1+x?2
® (1-x?
© 1-2x-%°
(@ 1+2x-%°

A person sold an article for ¥ 75 which cost
him ¥ x. He finds that he realised x% profit on

his outlay. What is x equal to ?

(a) 20%
b)) 25%
(¢ 50%
d) 100%

(15-A) =




TF FR I TH AT ¢ 6 A 1 | 7 Ol ofhwa
I x kmph 314 &ft, @ 7m0 y W w8 § @@t
B A | T R wft off 2

41. 44.

(a) x@t-yty

b) xt-y ty?

© x@t-yty?2

45.

(d) x t.+y)ty

42. W& G e B FrA fan s R, < fRed gd

T e 4 R A wn | gt % e
% IFTTHAIA B } R W 7840 m PR F
4 3% @ | W 12250 m T & Ream
THF T 2

5 HHUg
5-5 YIS
6 qg
6-5 4HUE

(a)
(b)
(0

(d)

43. AR 6%~ 45 - g (faw T} logy, 2 = 0-301

3R log, 3 = 0-477), 1 Frafafes § & S
Th HE 8 2

47.
(a) ,

0<x<1

b) 1<x<2

) 2<x<8

Gy

3<x<4

DZOL-T-LKM
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Y tenien fafafea 4 @ f6a R
% oI v <t ST @ 2 ‘

T Uil

TH Iieh 1 T

T qUIteh b1 o

3 quitehl T HCF

It % M H o T B, @ Pefifea §
¥ P T ¥R 2

1. TE T S afe § |

2. SEH A IR R |

R R T e w1 @ = T I ghe

(a)
(b)
(c)
(GY)

(@) ¥ad 1

(b) AT 2
(¢ 1 3R 23
@ :rfhlaﬁwz‘lz

'qﬁcosece—sin(%:m@Tsecﬂ—coSG:n%,
4 2 2 4

@ m3n3 + m3n3 %a%w% ?
(@ 0

b 1

(¢ mn

(d m2n2

afE cos 0 + sec 0 =k &, A sin? 6 — tan20 I

A 1 ]2
(a) 4-k
®b) 4-k2
) k2-4

@ k2+2




41. A car did a journey in t hours. Had the
average speed been x kmph greater, the
journey would have taken y hours less. How

long was the journey ?

@ xt-yty

(b xt-y) ty?

45.

© x(t-y ty?

d x@+yty

42. When a ball is allowed to fall, the time it takes
to fall any distance varies as the square root of
the distance’ and it takes 4 seconds to
fall 78'40 m. How long would it take to fé.ll

122-50 m ?

5 seconds

(a)

55 seconds 46.

(b)
.6 seconds

(c)

6-5 seconds

@

If 63~ 4x 4%*5 - 8 (Given log;p2 = 0-301 and
logyy3 = 0-477), then which one of the

43.

following is correct ? B
47.

0<x{1

(a)

(b)

l<x<2
2<x<3

(c)

@

3<x<4

DZOL-T-LKM
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The Euclide'an algorithm is used to calculate
the

(a) ‘square root of an integer
(b) cube root of an integer
(¢) square of an integer

(d) HCF of two inteQers :

If radius of a sphere is rational, then which of
the following is/are correct ?

1. ~ Its surface area is rational.
2. Its volume is rational.

Select the correct answer using the code given
below : o

(a)  1only

b) 2 only -

(c) Both1land2
Neither 1 nor 2

@

If cosec © — sin 6 = m and sec 6 — cos O = n,
4 2 2 4

then what is m3n3 + m3n3 equal to ?

@ o0

® 1

(¢ mn
(d m?n?

If cos O + sec O =:k, then what is the value of
sin20 — tanZ0 ?

(a 4-k

®) 4-K2
© k-4
d k2+2




48. AB W ¥ UH odgw # Uh S ABC|51. & F w1 AW 15° } i HN F ATHA
2 | cos (A +B) +sin (A + B) foreeh SR 8 2 %%mﬁi"%lwaﬁwaﬁ%ﬁwaﬂkgm%l
12 '

@ o ‘ k Topeeh ST & 2
® 3 @ 35
© 3 ®» 2
@ 1 6
49. Frafafea sl w fem Hf @
1. x% w et T & R °
.Sin9=x+§m%' |52, Prafaea e w fEw it
2.  x% HI§ TRfas 99 % fog 1. 0% mft url % o weftertor

i 2 sin?0 — 4=08Wa
cose=x+l‘§[ﬂa%| sin cos0+4=0 2
x

2. tan@+cot®, 28 FW T B Hehal &, &l

I | ¥ RA-AVE FH g R 2 ook
(a) wad 1 ‘ -2
(¢) 1323 (a) - et 1
@ Fd1MAA2 (b) FF 2
‘ (@ 13fk2gmi

50, wW Yuyw ¥ shkwm w ke e Hwm| @ T 1T 2

¥ 53. TH IO W TH THIHR 6gH aw wA ¥ | AR
@ = 44mB G T FA F TR A e 420 s
5 2, @ fra Brsan weim < Sl =i 2
3n . (a) 60 m
© 5 ' (b) 66m
8 ' (@ 80m
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48. ABC is a triangle inscribed in a semicircle of |51, The difference between two angles is 15° and

o di . What i B i ;
: diameter AB at is cos (A + B) + sin (A + B) the sum of the angles in radian is % The

equal to ?
bigger angle is k times the smaller angle.
0
@ What is k equal to ?
1 .
b - 4
4 @ =
- ) 3
1
(c) by . 3
2 . } b 4
. ® 2
d 1 6
. ( 6
c) 5
49. Consider the following statements : @ 7
. ) 6
1. sin 6 =x + 1 is possible for some real '
. X .
value of x. 52. Consider the following statements :
-2 : o 1 . blo f ) 1. The equation 2 sin® 6 — cos 8 + 4 = 0 is
.- cos 0 =x+ 5 is possible for some rea possible for all 6.
““value of x.

2.  tan 6 + cot 8 cannot be less than 2, where

Which of the above statements is/are correct ? 0<o< ™
1 onl "
(@) ony Which of the above statements is/are correct ?
(b) 2only @ 1only 4
(C) Both 1 and 2 ‘ (b) P) only
‘(d) Neither 1 nor 2 ‘ (¢) Both1land?2

*'(d) Neither 1 nor 2 »
50. What is the magnitude (in radian) of the T

interior angle of a regular pentagon ? |58. A road curve is to be laid out on a circle. What
Sy g o radius should be used if the track is to change
@ 5 direction by 42° in distance of 44 m ?
®) 2n (Assume © = 272 )
5
8 a) 60m
© = ( :
5 (b) 66m
4 (¢ 75m
@ = ‘
(d 80m

DZOL-T-LKM ' (19-A)




54. 3sin -4 T IAfeihan AH TR ? 58. A cosec 6 —sin 6 = p3 3 sec 6 —cos B = 8
(@ -4 | 2, Atan O FH T TR ?
® -1 '
@ B
(c) .0 q
@ 1 ‘ b 2
_ | P
55. ?lﬁ sin9+cos()=\/§%,?ﬁ © pq
'sihGB+c0369+6sin26coszemw%? @ p?¢?
@ X 3
4 59. AR 0<o, B<90° 5 FhR & % cos (- p) = 1
®) § %,?ﬁ sin o — sin B + cos o — cos B frae
4 TR R?
© 1 .
,(a -1
' 7
@ 7 b 0
@© 1
56. 9sin?0 + 16 cos? 0 T AaW TH T B ?
' ' @ 2
a) O .
() 9 ' 60. frafafaa weEl w fo=mm Hifvm .
(¢) 16 o .
1. cos 61° + sin 29° T UM 1 ¥ 31 <& &
@ 25 , |
a1 g | »
57. AR cosa7° 4sind7°=k B, A 2. . tan23°—cot 67°HT A 0 A HH & |
cos? 47° — sin? 47° 1 AH FAT R ? I § & PRI S ad v
@ ky2-k’ (a) whad 1
B, -ky2 -k | ' (b) had 2
© kyl1-k2 (@ 1@
@ -ky1-k2 » ) @ Td13made

DZOL-T-LKM (20-A)




54. What is the maximum value of 3sin6-4 ? 58. .If cosec O —sin 6 = p3 and sec 6 — cos 0 = q3,

then what is the value of tan 6 ?
(a) -4 : : R
® -1 @ 2
: q
© .0
’ ® 1
(¢) Pa
55. If sin 6 + cos 0 = /2, then | what is @ ple?
sin® 0 + cos® 0 + 6 sin® 0 cos” @ equal to ?
@ 3 |
59. If0 <o, B<90° such that cos (o - B) = 1, then
® 3 what is sin o — sin B + cos &t — cos § equal to ?
4
-1
© 1 (a)
" ® 0
@ %
e 1
. | o g 2 @ 2
56. Whatis j;_he least value of 9 sin“ 0 + 16 cos“ 6 ?
.{a) O
' () 9 . :
60. Consider the following statements :
() 16
: 1. The value of cos 61° + sin 29° cannot
@ 25 -

exceed 1.

2. The value of tan 23° — cot 67° is less .

87. If cos 47° + sin 47° = k, then what is the value
than 0.

of cos? 47° —sin? 47° ?

(@) ky2-k?
(b) -ky2-k?
) | | ! () 2only
- _ ‘
. (0 k\/_l -k , (¢) Both1land?2

@ -kyl-k ~(d) Neither 1 nor 2

Which of the above statements is/are correct ?

(a) lonly

DZOL-T-LKM - (21-A)




61. TH g ABCD#, B = 90° 33k . |64. ABC T wweg fqw ® | 49T BC, D W W@,

AB2+BC? + CD% - AD? = 0%, @ .~ ACD ¥R watfag @dt @ 75 BC = 3BD | AD?
e s R 2 FTAB? ¥ U TR 2
(a) 7:9

(@ 30°

‘ ‘ (b 1:3
~ (b)) 60° ' e 5:7
© 90° @ 1:2
@ 120>

65. Frafafga st w frem Aifv

62. TH AABCH, AC =12 cm, AB = 16 cm 3R £ A  forefor e §
mf&‘qﬁa-.'vAD%IﬂﬁBD=4cm%’a}'DC 2. HuSd H GHIGT YA g @i T
e W R 2 =1 oft Y@ iR genel g
© zem frnfora et B 1 |
oo o § & A o T A

| “(a) had 1
() 4cm (b) Had 2
@ 5em (0 13 23M

(d) qa’rlaﬂt:l‘az

63. ABCD U b9l 5igsl 8 | 01 A, B,C 3 D| ot '
% WS I F A P, Q, R 3N S W FieH | 66 IR @k v I, T d wd o

§1 ZPQR + 2 RSP fra® v @ 2 A AN H, C 3R V §, @ 3xvE® + ov2
: ' fopmeh se B 2
" (a) 90° .
(a) C2H2
-(b) 135° ‘
b) 20212
() 180° ,
(¢ 5C%H2
@ 270°
(d 7C2H2

DZOL-T-LKM : (22-A)




61. In'a ‘quadrilateral ABCD, £B = 90° and|64. - ABC is an equilateral triangle. The side BC is

AB? + BC? + CD? - AD? = 0, then what is - trisected at D such that BC = 3 BD. What is
£ ACD equal to ? ' _ " the ratio of AD? to AB? ?
(@ 30° @ 7:9
® 1:3

() 60° .

: ) (e) 5:7
() 90° : @ 1:2
d 120°

65. Consider the following statements :

62. Ina AABC,AC =12 cm, AB = 16 cm and AD 1. The diagonals of a trapezium divide each
is the bisector of Z A. If BD = 4 cm, then what bother proportiona]]y_ o

is DC equal to ?
- , 2. = Any line drawn parallel to the parallel

@ .2 cm | : ' sides of a trapezium divides the
) 3Scm non-parallel sides proportionally.
(¢ 4cm Which of the above statements is/are correct ?
_(a) lonly
@ Sem (b) 2 only:
(0 Both1land?2

63. ABCD is a cyclic quadrilateral. The bisectors (d) Neither 1 nor 2
of the angles A, B, C and D cut the circle ’

at P, Q R and S respectively. What is
66. If H, C and V are respectively the height,

ZPQR + ZRSPequalto? . )
’ curved surface area and volume of a cone, then
(a) 90° * whatis 3nVH" + 9V° equal to ?
(b) 135° (a) C?H2
. 2112
(c) 180° b 2C°H
(¢ 5C?%H?
d 270°
@ 7C%H2
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67.

8 cm oo areft €@ &t wk 3w T ¥, 2 mm

wmawﬁ%ﬁﬁaﬁﬁﬁ:ﬁ‘oﬁaﬁ%amimm
29
. (@) 512
(b) 1024
(¢) 256000
d) 512000
68. THh s it &1 Yo 40 cm 3R 41 cm & | AR
s it 9 90 cm ?, A THET SABE
22
(a)A 90 cm?
(b) 135 cm?2
(¢ 150 cm?2
) 180¢m2.
69. Th THEGHT & fyull # 2 3 1 o B 3k
mw&m%ﬁ%ﬁmﬁszﬁm
? | a1 Saea w2
(a) 48 Thrd
) 36 TS
© 24 97 313
@ 129 s
70. T GHHIV BYS *1 Sea a4 R, I whga
ﬁﬁWMm%aﬁtawfqtéfmwsﬁﬁaa
4cm%?
(a) 207cm?
() 18 cm?
(e) 16 em?2
(d) 10 cm?
DZOL-T-LKM

72,

73.

74.

(24-A)

- (a)

Th ARG H T J 10%3%3%@1:3331%1}:
10% 1 FHft 1 1t @ | @ A AT F &A%
4 91 g 2

T gfg s T @ i
(b 1%H g
(© 1% HHt

(d) 10% < HH

q AT F JST Al BT FIA 1 4 R |

3T AT hI YT FT & 2
(a) 1:16
b) 1:12
(© 1:10
@ 1:8

‘Q%é‘c’ﬁﬁaﬁg,ﬁ@é@?ﬁrﬁmzzocm,

15cm 3R 10cm & | 45 m i T, 0-15 m i
Ster 3R 3 m H I areh far w TR F
ot S it IEEwaT 22

(a) 12450

(b) 11250

(©) 6750

@ oA @ wiE =




67. How many solid lead balls éach of diameter 71. In a triangle, values of all the angles are

2 mm can be made from a solid lead ball of integers (in degree measure). Which one of the
radius 8 cm ? following cannot be the proportion of their
(a) 512 measures ?
(b) 1024 (a) 1:2:3
() 256000 (b) 8:4:5
(d 512000 © 5:6:7

d 6:7:8

68. The two sides of a triangle are 40 cm and A
4l cm. If the perimeter of the triangle is|72. The length of a rectangle is increased by 10%
90 cm, what is its area ? and breadth is decreased by 10%. Then the

(a) 90 cm? area of the new regtangle is

(b) 135 cm? (a) . neither increased nor decreased
(¢ 150 cm? (b) increased by 1%

(d) 180 cm? ()  decreased by 1% ’

(d) decreased by 10%

69. The diagonals of a rhombus differ by 2 units - .
-and its perimeter exceeds the sum of the|78. The surface areas of two spheres are in the

diagonals by 6 units. What is the area of the ratio 1 : 4. What is the ratio of their volumes ?
0 .

rhombus ? @ 1:16
' (a) 48 square units

\ . a ® 1:12
(b) 36 square units

(e) 1:10
(¢) 24 square units

d- 1:8

(d) 12 square units

74. The length, breadth and height of a brick are
. 20cm, 15cm and 10 em respectively. The
number of bricks required to construct a wall

with dimensions 45 m length, 0-15 m breadth

70. What is the area of a right-angled triangle, if
the radius of the circumcircle is 5cm and
altitude drawn to the hypotenuse is 4 cm ?

(a) 20cm? = and 3 m height is
(b) 18 cm? @ 12450,
\ (b) 11250
(c) 16 cm:
(¢) 6750
@ 10 cm? d) None of the above

DZOL-T-LKM (25-A)




75. ufy TH @W agNS F wft qHE w1 Fored, | 78 o fys ABCH,aR2£A=32B=62C%,
Ia% @t SfrsHIvi % ATH H M L, W AE| A LA+ 2 CTeah TR R 2 |

TS TR ? - @ 90°

@ W | | & 120°

(b) 3THSA (¢) 135° -
(© FES @ 150°

(d RS

| ' 79. a&@aﬁaﬁt@aﬁﬁqﬁmm%?ﬁ
76. TH GRS F WA 11 km W § 5000 e T F FA%A B T F GG § IPTA T

T & | R B e wn d 2 22

(T SAfT "=273) @ 1:m

(a  17-5cm b) 2:m

(b) 35cm (¢ 3:m

© T70em @ 4:m
@ 140cm

0. wh aER B i geell it el A
77. @ Al % AT B I 1: 4 B R I T Uit (cm #) § | § IR 1 AGA T
TEl T AT 4 : 5 8 | SR SamsAl H 22

JUT FTR 2
(a) 60
(a) 25:64
. (b) 120
(b 16:25
: © 9:16 (¢ 360
@ 5:9 @ 480
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75.

76.

1.

DZOL-T-LKM

If the sum of all interior a.nglés of a regular
polygon is twice the sum of all its exterior

angles, then the polygon is

(a) Hexagon
(b) Octagon

() Nonagdn
(d) Decagon

A bicycle wheel makes 5000 revolutions in
moving 11 km. What is the radius of the

wheel ? (Assume . = -27—2 )

(a) 17-5cm

(b) 35cm
() T0cm

(d 140cm

The volumes of two cones are in the ratio 1 : 4
and. their diameters are in the ratio 4 : 5.
What is the ratio of their heights ? '

(a) 25:64
(b) 16:25
(e 9:16

d 5:9

78.

79.

80.

(27-A)

In a triangle ABC, if 2 ZA =3 2B =6 £C,

_then what is £ A + £ C equal to ?

(a)

90° ‘
- (b}  120°

© 135°

(d 150°

If the perimeter of a circle and a square are
equal, then what is the ratio of the area of the

circle to that of the square ?

(a) 1:m
(b) 2:m
(0 3:m
d 4:=

The lengths of the sides of a right-angled

triangle are consecutive even integers (in cm).

' What is the product of these integers ?

(a) 60

(b) 120
(e 360
(d) 480




. 8L

82.

83.

w B ABC § ©% siaagd | a8 yonei AB

3 AC I HUT: M 3 N R w3t &tar & | gfe
A H FE 07 M LA =70°8 @ « MON
e SR R 2 |

(a) 90°
(b) 100°
() 110°

d 120°

@mﬁwﬁwﬁ%aﬁwm
8,450 1 TS B | THS Ul i oaTS T R 2

(a) 50FHTE
55 ThIS
(c) 60THS
) 6538

(b)

A AR F § | AR By H I
@YY H = A kTR, @k H A w0
22

(a) 4

(b) 2

@ 1
1
2

DZOL-T-LKM

(d)

84.

85.

(28—-A)

3 % ATBA! BT AU m?
ofeTdt 1 Sge A A

ntg | TR

(a)
() n:m

m:n

¢/ m:n?

(d m2:n
s ABC it wiferet AD R | IR AD W+
g PR, AR i e Srwm a2 2

(@ Y9 PAB ®1 &www, By PAC &
Bohel ¥ i B

® B PAB. ®1 8w, AYS PAC ¥
QI F T &

© TS PAB ®1 &mww, fiyw PAC &
BHeT T TH-eTE B

@ T PAB % &mww, fgs PAC ¥
?Raww:mm%

B ¢ %Qﬂ%gﬁ%éﬁmeaﬁwmﬁa@
@saﬂ%srqrdw%?

1
(a) 51‘29
1 i . 0 (]
b) Erz (6—2sm§ COSE)
1 . 0 0 |
(c) Erz (6—sm§ COSEJ
]

(d %rz sing cos 3




84. Areas of two squares are in the ratio m2 : n.

85.

86.

81. A circle is inscribed in a triangle ABC. It
touches the sides AB and AC at M and N
respectively. If O is the‘cent;'e of the circle and |
A= 7Q°, then what is £ MON equal to ?

(a 90°
(b) 100°
(e)  110°
(d 120°
82. The sum of the squares of sides of a
- right-angled triangle is 8,450 square units.
What is the length of its hypotenuse ?
(a) 50 units
(b) 55 units
(c) 60 units
(@ 65 units

83. A triangle énd a parallelogram have equal
areas and equal bases. If the altitude of the
trianéle is" k times the altitude - of the
parallelogram, then what is the value of k ?

(a) 4
b)) 2.
@ 1
1
dH =
(d) 9
DZOL-T-LKM ! (29-A)

What is the ratio of their perimeters ?
(a)
(b)

m:n
n:m
(¢ m:n2

(@ m?:n

AD is the median of the triangle ABC. If P is
any point on AD, then which one of the

following is correct ?

(a) Area of triangle PAB is greater than the
area of triangle PAC

(b) Area of triangle PAB is equal to area of
triangle PAC '

(c) Area of triangle PAB is one-fourth of the
area of triangle PAC

(d) Area of triangle PAB is half of the area

of triangle PAC

What is the area of a segment of a circle of

radius r subtending an angle 0 at the centre ?

1

1 .0 )
(b) §r2(6—2sm§cos§)

1 . 0 0
© 51'2 (6 - smE cos‘—2—]

(d)

l1‘.25ing cos g
2 2 2




87. T B ABC ® Rl ¢ w W § | wH |80, T Ao % W g e B Bt x bk
. AR Acw A g PR BC R HE|  2x ¥ | AR awd B S ax B, A AA P
g Q 2 | Ffifa wedl § & F-wR ol gEmEI?

R - - (qﬁFﬁﬁTQn=272)
1.  AQ?+BP2=AB? + PQ?
G +re (@ 11x°
2. AB=2PQ
(b) 22x3
= X T e F T =F FE IW G
- 44x3
@ a1 © ddx
(b) Fa 2 @ 5558
(¢) 13N 23t

(@ "T@13MmAE2
90. ﬁ‘@mﬁm,m,m,w

.mwmm:p,vq,nsﬁ'{ti?ﬁ"

| | o 1,1, 1 py ,
88. 9N @ Frewn It oefiw fi o w1t wm o p a9 TR
YR T 10 § T 37 g vl & ofiet q |

WE R A @ e A e et AR @
aﬁw}ﬁ@rﬁﬁﬁmmmucﬁ%ﬁh , |
e fss H BT 2 2 b 2
(‘Tﬁ?ﬁﬁlﬁn:%—z) : : §
-(a) b5cm s
(C)‘ ﬂ
b) T7cem
© 10cm . @ %
(d) 14cm
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87. ABC.is a triangle right-angled at C. Let P be | gg,
any point on AC and Q be any point on BC.

The radii of the flat circular faces of a bucket

, are x and 2x. If the height of the bucket is 3x,
Which of the following statements is/are ‘ .

S . C ‘what is the capacity of the bucket ?
correct ? ’

N o (Assume nt = 272 )
1. AQ?+BP?=AB?+PQ?
B <3
2. AB=2PQ {a 1Ix
* Select the correct answer using the code given (b) 22x3
helow :
(©) 44x°
(a) lonly
. : d 55x°
(b) 2only
(¢) Both1and?2
(d) - Neither 1nor2 o .- o 90. Ifp,q, .r, s and t represenlt length, breadth,

height, surface area and volume of a cuboid

respectively, then what is 1 + 1 + % equal
88. Four circular coins of equal rgdius are placed P 4

to?
with their centres coinciding with four vertices
of a square. Each coin touches two other coins.
If the uncovered area of the square is 42 cm?, (a) ‘5
then what is the radius of each coin ?| t
. (Assume T = % )
2
®» 2
(ai)' 5 cm
(b) 7em N o °
; ST
(¢ 10cm
(d 14cm _ @ 2= '
‘ t

DZOL-T-LKM . . (31-A)




91. uge 3nmfl wh qlien § Asa ¥ | R arafRfay 3|94.
qiie 3<fivl <Y 3% 376 9, 6,7, 8,8,9, 6, 5, 4
7 & | wft ugg st & st i wfee
AR ? ‘

(a) 6

(b) 65

e 17

95.

@ 75

TR 7 s, frt ¥ F 1 oTER 19 T
g, & St i qgER (gm W) 180, 191, 175, 111,
154, 14131*!1176‘#1% T, A YgrEm i mierm
R ? ‘

92.

(a 1llgm

(b) 154gm

© 175gm

d 176 gm

w1 vgfvr B Frafafga ol § @ s
w9, el gHA F 99 9IH 9 S % siwa
" R H e 5 e wgw i ot 2

93.

(a) THTGX HTE
(b) TUTRR HIE

(c) WIfEehT

(D g

DZOL-T-LKM

(32-A)

& T el 1 foEar auE B, & ema-fee
o erra i ST = quidt ] 2

i &1 foeam

fr et <

EifCuksic)

(a)
b)
(©

(@ o H TR

T TRER % 7 eE 6 g FAW: 2, 5, 12, 18,
38, 40 3 60 T B | 5 7§ W TH T T
et omg x af R, ufEr & e mn | Al
nﬁanaﬁmwmgmwaﬁﬁcawﬁ%,a‘u
FAF R ? '

@ 1

by 2
() 3

d 4

Th Hyl % 100 Tl @1 hwd a9 46 ke
2 | gkl o 3T T 50 kg 2R wwsfRat W
3 o5 40 kg ? | SfHRAT A TR A wEw
fepat e1ftrer 2 2

(a)” 10
(b) 15
© 20
@ 25




Fifteen - candidates ' appeared in 94.

examination. The marks of the candidates who

91. an
passed in the examination are 9, 6, 7, 8, 8,9,
6, 5, 4 and 7. What is the median of marks of
all the fifteen candidates ? ’

(a) 6

(b) 65

() 7

@ 75

95.
92. If the yield (in gm) of barley from 7 plots of
size one square yard each, were found to be
180, 191, 175, 111, 154, 141 and 176, then

what is the median yield ?

(a) 1llgm

(b) 154gm

(0 175gm

(d 176 gm

96.
93. Which one of the followiné measures of central
' tendency will be used to. determine the

average size of the shoe sold in the shop ?
(a) Arithmetic mean
Geometric mean

(b)

(¢) Median

(d) Mode

(33-A)

DZOL-T-LKM

When' the class intervals have equal width,
the height of a recfangle in a histogram

represents

(a) Width of the class

(b) Lower class limit
(© Upper class limit
(d) - Frequency of the class

The ages of 7 family members are 2, 5, 12, 18,
38, 40 apd 60 years respeétively. After 5 years
a new member aged x years is added. If the
mean age of the family now goes up by

1'5 years, then what is the value of x ?

@ 1
b 2
© 3
@ 4

The mean weight of 100 sfudents in a class is
46 kg. The mean weight of boys is 50 kg and
that of girls is 40 kg. The number of boys

exceeds the number of girls by

(a 10

(b 15
© 20

(@ ., 25




97. WHI 25, 65, 73, 75, 83, 76, 17, 15, 7, 14 % TH|99. 2, 4,6, ..., 100 < ATferet w1 2 ?
ag=a % Wem ¥ faw e feemt s st

et T R 2 (@ 48
@ -1 : . w49
® 0 © 50
© 1 @ 51
@ 2

100. A FENS % TEHH Wed M UK qeA

98. 1ﬁi[ﬁ?ﬂ'l?'ﬁx,x+2,x+4,x+6,x+87='}'7['13I'l?23[m . .
AT 10 3 12 § | ST THIGR TTET F4T R 2

2 1| T ofi Jeqont ST HTed T R 2

(@ m : . @ -23?
(b) m-1 | ® V120
(© m-2 | ) 11 .
@ m-3 d 144
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What is the algebraic sum of the deviations

97.
from the mean of a set of valués 25, 65, 73, 75,
83,76,17,15,7,14? '
(@ -1
® o
@ 1.
@ 2
98. The mean of ﬁye observations x, x + 2, x + 4,
" X + 6, X + 8 is m. What is the mean of the first
three observations ?
(a) m
(b) m-1
(¢ m-2
d m-3
DZOL-T-LKM

99.

100.

(35-A)

What is the median of 2, 4, 6, ..., 100 ?

(a) 48
b 49
(o 50
@ 51

The harmonic mean and the geometric mean
of two numbers are 10 and 12 respectively.
What is their arithmetic mean ?

() %
(b) 120
0 11

@ 144
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T.B.C. : DZOL-T-LKM o | Test Booklet Series

8.

10.

Allowed : Two

~ TEST BOOKLET
 ELEMENTARY MATHEMATICS

Maximum Marks : 100
JINSTRUCTIONS
IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET. _ ‘
Please note that it is the candidate’s responsibility ta encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and 'witl}ouﬁ any omission or discrepancy at the appropriate
places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection.
You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that-there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item,

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet. s

All items carry equal marks. . : . ‘
Before you proeeed to mark in the Answer Sheet the response to various items jn the Test Booklet, -
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate. : ’ :
After you have completed filling in all your responses on the Answer Sheet and the examinatjon has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet. . .

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers ; -

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS. . : ‘

@d) There are four alternatives for the answer to every question. For each question for which a Wrondg answer

has Iigen given by the candidate, one-third of the marks assigned to that question will be deducted as
-penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as ahove to that question.

Gii) Ifa guéstion is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.
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